Reference: EXAM/JPP/BITIC/JAIPUR/BCA-FIRST/(MO/17) / 2017-2018

By the order of Examination committee, the following is the result of BCA - FIRST Semester held in the month of NOV-2017

Date : FEB-2018

SESSION	: 2017-2018 CLASS : BCA BRANCH : COMPUTER SCIENCE													SEMESTER / TRIMESTER : FIRST MONTH OF E							XAM : NOV-2017		
ROLL NO	NAME		BCA	BCA1009(3)		BCA1003(4)		BCA1007(3)		BCA1005(4)		BCA1001(4)		1004(2)	BCA1006(2)		-		TOTAL CREDIT POINTS	TOTAL CREDITS	SGPA	REMARKS	
			GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.					
BCA/25014/17	Priyansh Mathur	U	A+	27.0	В	24.0	A -	24.0	C -	20.0	C -	20.0	A	16.0	B+	14.0	-	-	145.0	22.0	6.59	-	
BCA/25015/17	Yashi Sharma	U	A	24.0	B+	28.0	A+	27.0	B+	28.0	A	32.0	A+	18.0	A+	18.0	-		175.0	22.0	7.95	=	
BCA/25017/17	Sanidhya Chugh	U	A+	27.0	B+	28.0	A+	27.0	A	32.0	- B+	28.0	A+	18.0	- A+	18.0	-	-	178.0	22.0	8.09	_	
		L	- A+	27.0	- B+	28.0	- A+	27.0	- В	24.0	- C	20.0	- A+	18.0	- B+	14.0	-	-					
BCA/25019/17	Naman Purohit	L	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	<u> </u>	158.0	22.0	7.18	-	
BCA/25020/17	Chitranshu Soni	U	A	24.0	В	24.0	B+	21.0	D	16.0	С	20.0	A+	18.0	B+	14.0	-	-	137.0	22.0	6.23	-	
BCA/25021/17	Nikhil Gupta	U	A+	27.0	A	32.0	- A+	27.0	B+	28.0	- B+	28.0	- A+	18.0	A	16.0	-	-	176.0	22.0	8.00	_	
Bertzstein	Tikini Gupu	L	-	-	-	-		-		-	-	-		-	-		-	-	-7,515	22.0			
BCA/25022/17	Arpan Batwara	U	A -	24.0	B+	28.0	A -	24.0	B	24.0	B+	28.0	A+	18.0	B+	14.0	-	-	160.0	22.0	7.27	-	
BCA/25023/17	Akash Gupta	U	С	15.0	D	16.0	С	15.0	D	16.0	B+	28.0	A	16.0	В	12.0	-	-	118.0	22.0	5.36	-	
DG4/05004/15		L U	- A+	27.0	- A	32.0	- A+	27.0	- A	32.0	- B+	28.0	A+	18.0	Ex	20.0	-	-	104.0	22.0	0.26		
BCA/25024/17	Samiksha Chawla	L				-						-				-		<u> </u>	184.0	22.0	8.36	-	
BCA/25025/17	Jayjit	U	Ex -	30.0	A+	36.0	Ex -	30.0	A+	36.0	A -	32.0	A+	18.0	Ex	20.0	-	-	202.0	22.0	9.18	=	
BCA/25026/17	Harshit Khandelwal	U	A+	27.0	B+	28.0	A+	27.0	В	24.0	С	20.0	A+	18.0	A	16.0	-		160.0	22.0	7.27	-	
DG4/05005/15	DI V II	U	- A+	27.0	- B+	28.0	- A+	27.0	- A	32.0	- C	20.0	A+	18.0	- A	16.0	-	-	160.0	22.0	7.4		
BCA/25027/17	Bhavya Jangid	L	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	168.0	22.0	7.64	-	

: COMMUNICATION SKILLS/TECHNICAL ENGLISH : INTRODUCTION TO COMPUTER SCIENCE : ENVIRONMENTAL SCIENCE BCA1009(3) BCA1003(4) BCA1007(3) BCA1005(4) PROGRAMMING IN C MATHEMATICS-I BCA1001(4) BCA1004(2) IT LAB. BCA1006(2) : C PROGRAMMING LAB.

Controller of Examinations

Disclaimer

Reference: EXAM/JPP/BITIC/JAIPUR/BCA-FIRST/(MO/17) / 2017-2018

By the order of Examination committee, the following is the result of BCA - FIRST Semester held in the month of NOV-2017

Date: FEB-2018

SES	SSION: 2017-2018 CLASS:	CA BRANCH : COMPUTER SCIENCE SEMESTER / TRIMESTER : BCA1009(3) BCA1003(4) BCA1007(3) BCA1005(4) BCA1001(4) BCA1004(2) BCA1006(2) -													: FIRST MONTH OF EXAM : NOV-2017							
ROLL NO	NAME	L	-		BCA1003(4) - GR. PT.		BCA1007(3) - GR. PT.		-		BCA1001(4)		-		-		GR.	- - PT.	TOTAL CREDIT POINTS	TOTAL CREDITS	SGPA	REMARKS
BCA/25028/17	Bhavesh Kakkar	U L	A -	24.0			_	24.0	В	_		20.0				14.0		-	148.0	22.0	6.73	-
BCA/25029/17	Divyesh Devda	U L	B -	18.0	D -	16.0	-	18.0	C -	-	C -	20.0	A -	16.0	B+ -	14.0	Ē	-	122.0	22.0	5.55	-
BCA/25032/17	Dharmendra Kumar	L	B -	18.0	C -	20.0	-	21.0	F -	0.0	- D	16.0	-	16.0	B -	12.0	-	-	103.0	22.0	4.68	-
BCA/25033/17	Sarvesh Kumar	U L	B+ -	-	- B	24.0	-	27.0	C -	-	-	20.0	<u> </u>	16.0	İ	12.0	Ē	] - ] -	140.0	22.0	6.36	-
BCA/25034/17	Ankit Kumar	U L	B -	18.0	F -	0.0	_	15.0	D -	16.0	-	16.0	Ë		ΪΞ	12.0	Ē	<u>  -  </u>	91.0	22.0	4.14	-
BCA/25036/17	Mayank Kumar Gupta	U L	A -	24.0	C -	20.0	A+ -	27.0	-	32.0	A -	32.0	-	16.0	A+ -	18.0	Ŀ	-   -	169.0	22.0	7.68	-
BCA/25037/17	Ikshit Kumar	U L	A -	24.0	B	24.0	A+	27.0	C -	20.0	B -	24.0	A -	16.0	A -	16.0	<u> </u> -	-	151.0	22.0	6.86	-
BCA/25038/17	Harsh Dixit	U L	F*	0.0	F*	0.0	F*	0.0	F*	0.0	F*	0.0	F*	0.0	F*	0.0	-	-   -	0.0	22.0	0	F* IN : BCA1009, BCA1003, BCA1007, BCA1005, BCA1001, BCA1004, BCA1006
BCA/25039/17	Abhijeet Mahto	U L	A -	24.0	B -	24.0	B+	21.0	B+	28.0	B+	28.0	A -	16.0	A -	16.0	-	-   -	157.0	22.0	7.14	-
BCA/25040/17	Himanshu Agarwal	U L	B -	18.0	D -	16.0	B	18.0	F -	0.0	F	0.0	B+	14.0	B+	14.0	-	-	80.0	22.0	3.64	-
BCA/25041/17	Anirudh Sharma	U L	A+ -	27.0	B -	24.0	A -	24.0	B	24.0	C -	20.0	A+	18.0	B+	14.0	-	-	151.0	22.0	6.86	-
BCA/25042/17	Gayatri Prasad Dubey	U L	B+	21.0	D -	16.0	B+	21.0	C -	20.0	C -	20.0	A -	16.0	A -	16.0	-	-   -	130.0	22.0	5.91	-

: COMMUNICATION SKILLS/TECHNICAL ENGLISH : INTRODUCTION TO COMPUTER SCIENCE : ENVIRONMENTAL SCIENCE BCA1009(3) BCA1003(4) BCA1007(3) BCA1005(4) PROGRAMMING IN C MATHEMATICS-I BCA1001(4) BCA1004(2) IT LAB. BCA1006(2) : C PROGRAMMING LAB.

Controller of Examinations

Disclaimer

Reference: EXAM / JPP / BITIC / JAIPUR / BCA-FIRST / (MO/17) / 2017-2018

By the order of Examination committee, the following is the result of BCA - FIRST Semester held in the month of NOV-2017

Date : FEB-2018

SESSION	: 2017-2018 CLASS : BCA		SEMESTER / TRIMESTER : FIRST MONTH OF EXAM : N									M : NOV	-2017									
ROLL NO	NAME		U BCA1009(3)		BCA1003(4)		BCA1007(3)		BCA1005(4)		BCA	BCA1001(4)		BCA1004(2)		BCA1006(2)		- -	TOTAL CREDIT POINTS	TOTAL CREDITS	SGPA	REMARKS
			GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR. PT.		<u>                                     </u>		<u> </u>	
BCA/25043/17	Ronak Baser	U	A+	27.0	A	32.0	Ex	30.0	A	32.0	B+	28.0	A+	18.0	A+	18.0	-	-	185.0	22.0	0.41	
BCA/23043/17	Rollak Basci	L	-	-	-	-		-	-	-	-	-	-	-	-	-	-		165.0	22.0		-
BCA/25044/17	Shubhra Bhattacharjee	U	Ex	30.0	B+	28.0	A+	27.0	B+	28.0	B+	28.0	A+	18.0	B+	14.0	-	-	173.0	22.0	7.96	
BCA/23044/17	Shubhra Bhattacharjee	L	-		-	-		-	-	-			-	-	-	-	-	-	1/3.0	22.0	7.80	- !
DCA/25045/17	Accord Sinks	U	A	24.0	D	16.0	B+	21.0	F	0.0	D	16.0	A	16.0	В	12.0	-	- 1	105.0	22.0	4.77	
BCA/25045/17	Ayush Sinha	L	-	-	-	-		-	-	-		-	-	-	-	-	-		105.0	22.0		

BCA1009(3)	: COMMUNICATION SKILLS/TECHNICAL ENGLISH	-	:
BCA1003(4)	: INTRODUCTION TO COMPUTER SCIENCE	-	:
BCA1007(3)	: ENVIRONMENTAL SCIENCE	-	:
BCA1005(4)	: PROGRAMMING IN C	-	:
BCA1001(4)	: MATHEMATICS-I	-	:
BCA1004(2)	: IT LAB.	-	:
BCA1006(2)	: C PROGRAMMING LAB.	-	:
-	:	<u>-</u>	

Disclaimer

Reference: EXAM/JPP/BITIC/JAIPUR/BCA-FIRST/(MO/17) / 2017-2018

By the order of Examination committee, the following is the result of BCA - FIRST Semester held in the month of NOV-2017

Date : FEB-2018

SESSION	: 2017-2018 CLASS : BCA			BRA	NCH :	COMPUTE	R SCIENC	Έ					S	SEMESTER	R / TRIME	STER :	FIRST		M	MONTH OF EXAM : NOV-2017				
ROLL NO	NAME		BCA1009(3)		BCA1003(4)		BCA1007(3)			BCA1005(4)		001(4)		1004(2)	BCA1006(2)		-		TOTAL CREDIT POINTS	TOTAL CREDITS	SGPA	REMARKS		
			GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.			<u> </u>			
BCA/25001/17	Aayush Bairathi	U	A+	27.0	B+	28.0	A+	27.0	С	20.0	С	20.0	A+	18.0	B+	14.0	-	-	154.0	22.0	7.00	-		
BCA/25002/17	Shreyansh Jain	U	A	24.0	В	24.0	A	24.0	С	20.0	С	20.0	A+	18.0	B+	14.0	-	_	144.0	22.0	6.55	_		
B0:123002-17	Sin Cyan Sin Can	L	-	-		-	-	-		-	-	-	-	-	-	<u> </u>	-	-	11110	22.0	0.55			
BCA/25003/17	Harsh Jain	U L	В	18.0	C	20.0	B+	21.0	C -	20.0	F	0.0	A .	16.0	В	12.0	-	-	107.0	22.0	4.86	-		
		U	A+	27.0	B+	28.0	A	24.0	В	24.0	С	20.0	A+	18.0	B+	14.0	-	<b>—</b>						
BCA/25004/17	Mohak Laddha	L	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	ī	155.0	22.0	7.05	-		
BCA/25005/17	Lokesh Naga	U	A	24.0	С	20.0	В	18.0	С	20.0	F	0.0	A	16.0	B+	14.0	-	-	112.0	22.0	5,09	-		
BCA/23003/17	Lokesii ivaga	L	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	112.0	22.0	3.09			
BCA/25006/17	Harshvardhan Rajpurohit	U	A	24.0	В	24.0	A	24.0	С	20.0	F	0.0	A+	18.0	В	12.0	-	_	122.0	22.0	5.55	-		
<u> </u>		L		-		-	-	-	-				-		<u> </u>	<u> </u>	_	-	<b> </b>	-	$\vdash$			
BCA/25007/17	Srajak Jain	U	B+	21.0	С	20.0	B+	21.0	В	24.0	F	0.0	A+	18.0	A	16.0	-	-	120.0	22.0	5.45	-		
		L	- A+	27.0	B+	28.0	- Ex	30.0	- D	24.0	- C	20.0	- A+	18.0	-	16.0	_	_				├──		
BCA/25008/17	Surbhi Mohta	L	A+	27.0	D⊤	28.0	EX	30.0	В	24.0	-	20.0	A+	18.0	A	10.0	H	-	163.0	22.0	7.41	-		
DCA /25000/17	n ve i	U	A	24.0	B+	28.0	A+	27.0	A	32.0	В	24.0	A+	18.0	B+	14.0	-	-	167.0	22.0	7.50			
BCA/25009/17	Pranay Mishra	L	- 1	- 1	-	-	-	- 1	-	-		_	-	-	-	-	-	-	167.0	22.0	7.59	-		
BCA/25010/17	Hitik Bhagwani	U	A+	27.0	A+	36.0	Ex	30.0	A	32.0	С	20.0	A+	18.0	A	16.0	-	-	179.0	22.0	8.14	_		
		L	-	-		-	-	-	-	-	-	_	-		-		<u> </u>	-						
BCA/25011/17	Saurabh Kumar	U L	B -	18.0	D -	16.0	C -	15.0	F	0.0	F	0.0	B -	12.0	- C	10.0	-	-	71.0	22.0	3.23	-		
BCA/25012/17	Yash Saini	U	A	24.0	С	20.0	A	24.0	D	16.0	F	0.0	A+	18.0	B+	14.0	-		116.0	22.0	5.27			
BCA/23012/1/	1 asii Saiiii	L	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	110.0	22.0	3.41	-		

: COMMUNICATION SKILLS/TECHNICAL ENGLISH : INTRODUCTION TO COMPUTER SCIENCE : ENVIRONMENTAL SCIENCE BCA1009(3) BCA1003(4) BCA1007(3) BCA1005(4) PROGRAMMING IN C MATHEMATICS-I BCA1001(4) BCA1004(2) IT LAB. BCA1006(2) : C PROGRAMMING LAB.

Controller of Examinations

Disclaimer